Print this form or Go Back



Campaign Finance Receipts & Expenditures Report 1/10/2025

Governmental Ethics Commission 901 S. Kansas Ave. Topeka, KS 66612 Office (785) 296-4219 Fax (785) 296-2548 ethics.kansas.gov

Check only if appropriate Amended Filing Termination Report

Campaign Finance Candidate Name: Kristey S Williams

Filing Report Address: 506 Stone Lake Ct Address2: City: Augusta Zip: 67010 County: Butler Home Phone: (316) 775-1440 Business Phone: (316) 775-4510

Office Sought: State Representative District: 77

SUMMARY (covering the period from 10/25/2024 through 12/31/2024)

1 CASH ON HAND AT BEGINNING OF PERIOD	en Santan (non di la malatikan na Tanan Alakanan na mana di kanan	\$47,164.28
2 TOTAL CONTRIBUTIONS AND OTHER RECEIPTS	(Schedule A) <u>view/print</u>	\$3,708.31
3 CASH AVAILABLE THIS PERIOD	(Add Lines 1 and 2)	\$50,872.59
4 TOTAL EXPENDITURES AND OTHER DISBURSEMENTS	(Schedule C) <u>view/print</u>	\$7,599.67
5 CASH ON HAND AT CLOSE OF PERIOD	Subtract Line 4 from 3)	\$43,272.92
6 IN-KIND (NON-MONETARY) CONTRIBUTIONS	(Schedule B) <u>view/print</u>	\$0.00
7 OTHER TRANSACTIONS	(Schedule D) <u>view/print</u>	\$0.00

"I declare that this report, including any accompanying schedules and statements, has been examined by me and to the best of my knowledge and belief is true, correct and complete. I understand that the intentional failure to file this document or intentionally filing a false document is a class A misdemeanor."

Electronically filed on: 1/5/2025 1:08:24 PM

Signature of Candidate or Treasurer: Greg Dehlinger

Print this form or Go Back

SCHEDULE A

CONTRIBUTIONS AND OTHER RECEIPTS

Candidate: Kristey S Williams

	Name and Address	Type of Payment	Occupation of	Amount	
Noto I	of Contributor	Cash, Check, Loan, E-funds, Other	Individual Giving More Than \$150	Amount	
12/22/24	Kansas Cable PAC 900 S Kansas Ave Ste #300 Topeka KS 66612	Check		\$500.00	
12/06/24	T Mobile 12920 SE 38th Street Bellevue WA 98006	Check		\$250.00	
11/11/24	Kansas Crossing Casino 1275 S Hwy 69 Pittsburg KS 66762	Check		\$250.00	
11/05/24	HCA Kansas Good Government Fund 550 N Hillside Wichita KS 67214	Check		\$250.00	
11/04/24	Freestate PAC PO Box 541 Belleville KS 66935	Check		\$500.00	
11/04/24	NETCHOICE 1401 K Street NW Washington DC 20005	Check		\$500.00	
11/03/24	Ash Grove Cement Company PO Box 25900 Overland Park KS 66225	Check		\$250.00	
11/03/24	Teresa Johnson 1909 Peckham Ct Wichita KS 67230	Check	Homemaker	\$200.00	
10/31/24	Phil Ruffin PO Box 17087 Wichita KS 67217	Check	Entrepreneur	\$500.00	
10/31/24	Wichita Regional Chamber PAC 350 W Douglas Ave Wichita KS 67202	Check		\$500.00	
Total Itemiz	ed Receipts for Period			\$3700.00	
Total Unite	mized Contributions (\$50 or less)			\$8.31	
Sale of Pol	itical Materials (Unitemized)			\$0	
Total Contr	ibutions When Contributor Not Ki	nown		\$0	

	\$3708.31
TOTAL RECEIPTS THIS PERIOD	\$5/00.51
	descent of the second s

Print this form or Go Back

SCHEDULE C

EXPENDITURES AND OTHER DISBURSEMENTS

Candidate: Kristey S Williams

Date Name and Address		Purpose of Expenditure or Disbursement	Amount	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Mail Chimp Fees Sept- Dec	\$300.00	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Amazon -GOP pins, red bags, elephant paper clips	\$132.66	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Walmart - Food for KS BOE meeting	\$34.71	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Walmart - milk bones Rose Hill Parade dogs	\$15.04	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Costco - candy for Rose Hill Parade	\$150.42	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement GoDaddy - maintain kristeywilliams.com	\$19.99	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Amazon - address stamp	\$21.68	
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Heresy Substack - 1 yr subscription - Education	\$50.00	
12/21/24	Kristey Williams 506 Stone Lake Court	Reimbursement Butler Times Gazette subscription	\$36.00	

	Augusta KS 67010		
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Amazon - Caucus gifts	\$67.68
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement NCSL Mason's Rules Manual	\$90.00
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Hanover House representative leadership breakfast	\$90.57
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Mixbook 1/2 of Christmas cards	\$123.00
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Zazzle - Caucus notebook	\$29.35
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Apple Store MacBook Pro laptop	\$4,108.39
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Volunteer Gift Cards	\$50.00
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Volunteer Gift Cards	\$200.00
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Volunteer Gift Cards	\$250.00
12/21/24	Kristey Williams 506 Stone Lake Court Augusta KS 67010	Reimbursement Volunteer Gift Cards	\$125.00
12/21/24	Kristey Williams 506 Stone Lake Court	Mileage 9/11/24 to 12/12/24 at allowed rates	\$1,470.21

	Augusta KS 67010		
12/10/24	United States Post Office 119 E 5th Avenue Augusta KS 67010	Supplies Stamps	\$116.80
10/31/24	Valley Print Logistics 160 S Sheridan Ave Valley Center KS 67147	Newsletter 90 Letters	\$118.17
Total Itemized Expenditures This Period		\$7599.67	
Total Unitemized Expenditures of \$50 or less		\$0	
TOTAL EXPENDITURES & OTHER DISBURSEMENTS THIS PERIOD		\$7599.67	

Print this form or Go Back